Suggestion - Installation l A TE N ro |

Lin Unismestomen der =g Gruppa

Application: 1= three-way-valve: 3 = thermostat : back-up heating

Combinated system, heat pump until 10 KW A= heating operating (de-energised) closing the magnetic valve 2, if the storage
electrical heating element, solar - hot water and B= Back-up heating (current on) is loaded (with solar ) and then he switch on the
back up heating operation. the 3- Wegeventil (1) to pipe B

Functioning: 2= magnetic valve The heat pump will switched off to relais 4

heat pump is the first generator de-energised: closed

:-J_nd could be s_up_ported by electrical element in Latento, triggered = open

(ifr y), itis the d generator. 4 = Relais back-up heating:

In normal heating operation, the heat pump could be give off surplus switch off the heat pump, if latento

power into the storage (to the line magnetic valve 5)

If the Latento is loaded by solar, the heat pump and E-element
switched off to sensor §

The thermostat in(the storage (3) i)s switching on the three way valve (1) from 5 = magnetic valve de energised - open:

Line A to Line B (back up heating). - . e L .

Both at the same time the magnetic valve (5) will be closed to thermostat (3), so the By back-up hea_tmg r_nag_nehc valv_e is closing
heating water could be circulated to both exchanger in the Latento. zz:tseox::‘:\:;:rinngtzlems‘::r‘;;:m circulate to both

The heatingsystem now get the power of the storage.

is heating (back-up heating

The magnetic valve (2) is closed by switching off the heat pump, the return line
to the heat pump. So the hot water could not flow through the heat pump
while the back up heating operation
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TB (hot water): 75 -80cm P11/2-5 o

TK (in Latento): 80 - 85cm

TPO (Temp. top buffer sensor): 85 - 90cm important information:
TPU (Temp. bottom _F'Uffe" sensor): 125cm The surface of exchanger (domestic water) in this case 4,8 m?
T (for Thermostat 1): 100cm Heat pumps over 10 kW power - you should connect

the manufacturer of the heat pump
Surface to small - the heat pump could get overheated

i In this case the solar circuit is connected to the heat exchanger(heating,down).
domestic hot water So you will have only 2 m? of surface of solar exchanger
Therefore you should not install more than 6 m? of collectors
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